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IMPORTANT INSTRUCTIONS :

1. The Answer-sheet of a candidate who does not

write his Roll No., or writes an incorrect Roll No.

on the title page of the Booklet and in the space

provided on the Answer-sheet will neither be

evaluated nor his result declared.

The paper contains 100 questions.

3. Attempt all questions as there will be no Negative
Marking.

4. The questions are of objective type. Here is an
example. Question : 8 Taj Mahal was built by—
(A) Sher Shah (B) Aurangzeb
(C) Akbar (D) Shah Jahan
The correct answer of this question is Shah Jahan.
You will therefore darken the circle with ball point
pen in column (D) as shown below:
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5. Each question has only one correct answer. If you
give more than one answer, it will be considered
wrong and it will not be evaluated. Changing, |
Cutting, Overwriting and Erasing of an
answer will be treated as wrong answer.

6. A.ssume English version correct in case of any
discrepancy between Engligh and Hindi version

7. The space for rough work wherever provided m'ay
be utilized by the candidate. You are not allowed to
use any portion of the Answer-sheet for rough work
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ENGLISH

26. Which is the ‘longest pause’ ? 30. Fill in the appropriate determiner
(A) Apostrophe The ring is made of ............c.... gold.
(B) Dash ' . (A) the
(C) Hyphen : | : (B) a

(D) Full stop (C) no determiner

(D) any
27. Fill in the blanks :

31. Which of the following is the correct spelt

Please . oy, your dog. e

(A) prevent (A) Happenned

(B) stop (B) Hapenned
(C) restrain (C) Happened
(D) subdue (D) Hapenned
98. The teacher is popularsi:....i55 his | 32. Identify the correct form of the adverb
students. ' to fill in the blank :
h toldiyou ... oi=t

() among I have told you

(A) twice
(B) to

(B) many many times
(C) with ¢

(C) one time
(D) far :

(D) two times

29. Happiness'(Find out correct opposite

, ; 33. Apply the correct form of the verb
word in meaning)

Sthie s sty a new dress last week.
(A) Contentment
(A) has bought
(B) Grief
(B) has been buying
(C) Renunciation
(C) buys

(D) Beautiful
(D) bought

Jul-2001 Series—B (5) P LG



34.

35.

36.

317.
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Neha said to Isha, “Would you please
open the window ?”

In the above sentence Neha is ............
(A) Asking a question

(B) Giving an instruction

(C) Offering an advice

(D) Making a request,

Choose' the set of words which are in
the alphabetical order

(A) Celebration, C'el‘ebrity, Center,
Centimeter .

(B) Celebration, Centimeter, Celebrity,
Centre

(C) Centre, Centimeter, Celebrity,
Celebration

(D) Celebrity, Centre, Celebration,
Centimeter :

Life is the task where many share the

toll. Find out the synonym of toll

(A) Burdeny

(B) Fame

(®) .‘Dull

(D) Sharp

‘Select the correct word matching the

prefix ‘in’

(A) different ;
(B) rest

() ‘l/agv

(D) came

38.

39.

40.

41.

(6)

Choose the correct phrase

Can they go shopping with us ? They
are busy I wish they

you now.

(A) can go
(B) are going,
(C) could go
(D) would

Choose the correct word
Posthumous

(A) Cranky

(B) Brilliant

(C) Physically weak
(D) After death

Which of the following is a possessive

noun

(A) he

Use correct adjective

Mohan is the ... boy in the class.
(A) wise

(B) wiser

[C) wisest

(D) no option

7



42. Which of the following is correct proverb :
(grammatically)

(A) Grapes. are sure
’\(B) God helps those who help themselves
(C) Pride has a falls

(D) Barking dogs seldom bites

(B): lotof
(C) many.
(D) more

. Chiange into passive voice

- Never tell a lie
«A) Let a lie never be told
(B) Do not tell a lie
(C) A lie is not told
(D) Never tell a lie

45. C réct spelling of the following
(A} Senibr '
- {B) Seneor
(C) Sineor
(D) Seneir

7,

\Mle synonym of “essential” is

(A) enigma
(B) prestigious
(C) well-developed

Mecessary,

Jul-2001 Series—B
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47. Fill in the blank with correct option :
My grandfather walks very

(A) quick
(B) fastly
(C) fast
)0 (D) nice
48. Choose the correct word order

(A) Why she did leave so early ?

3) Why did she leave s0 early ?

(C) Why did so early she leave ?
(D) Why so early did she leave ?

}/F‘ﬂl in the blanks with word of correct

@ spelling. Please give me a

of paper.

(ﬁ) peice

{B) piece,
- (C) piese

(D) peace :

50.

-

ct word of same meaning of the

underlined word

Take care not to get hurt with the steam
from the kittle

(A) Burnt
(B) Bruised
(C) Scalded

(D) Cut

S b3
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51 AR fiqe &+t o9y e g oA | oL
R 11 ¥ ? @R SHE ufmm 32
it ? @ BYS &1 awwe enm
(A) 830 A2
(C) 10430 w2 7
(D) 9J30 ¥ L

52. 16x° +24x+5 & UGS ¥ o
(A) (8x + 5) (2x + 3),

(B) (4x + 3) (4x + 6) « %

¢
@) @x + 5 Ux + 1) Uj%}}
(D) (4x + 1) (3x + 2) . n

: 5 5 {;F 53

53. (5) 25 Eﬁrﬂﬂm'\&ﬂ
A) 5, . o \

s Nt o
(B) 625 e x° &\Q«
. o
S
(D) 125 ‘\oas,g(a&s%\“\” “*9 &5”
: e’ 54,

54. FEASAl 8, 16, 24 &1 AHA. Eﬁ‘;\ﬁfm
(A) 244
(B) 128
(C) 48
(D) 192

55.

55. 729 H1 YA ATd HISC
(A) 23
(B) 17
£ 27 SR

i) N =
(D) 37 1\3% ﬁ*
&. Ao
. : 2\
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MATHEMATICS

If two sides of a triangle are 8 cm and
11 em respectively and the perimeter
is 32 cm. The area of triangle will be

(A) 830 cm?
(B) 1130 cm?
(C) 1030 cm?

(D) 9430 cm?
The factors of 16x2 + 24x +5 are

(A) (8x + 5) 2x + 3)

(B) (4x + 3) (4x + 6)

(C) 4x +5)4x+ 1D

(D) 4x + 1) (3x + 2)

The value of (52)3 =53 is
(A) 5

(B) 625

(C) 10

(D) 125

Find the LCM of 8, 16, 24
(A) 24

(B) 128

(C) 48

() 192

Findithe square root of 729
(A) 23

(B)" 17

(C) 27

(D) 37



56, e 3375 W Sl B o 56. The cube root of the number 3375 is ........ ‘

(A) 25 (A) 25

®) 35 512 (B) 35

(C) 45 (C) 456

D) 15 (D) 15

57. tan (90° - A) = ? 2 57. tan (90° — A) = ?
' 245
(A) tan A ' (A) tan A
(B) sec A (B) sec A
- LC) —cot A (C) — cot A

7 (D) cot A s (@) cot A

58. Y| HT T ELSIR B ohT '{15[- 2 58. The curved surface area of a cone
IS s

- (A) nr2l
v | B) 2rrl/
(C) =nrl/ ) vl

(D) drnrl = ; (D) 4nrl

59, Teh o i o 8 HH 2l 39 g F UREM | 59. A square whose side is 8 cm, then its

perimeter will be

AU
(A) 64 IH (A) 64 cm
(B) 32 Wi U3 (B) 32 cm
(C) 16 gHt (C) 16 ¢cm
(D) § dft | (D) 8 cm

60. 9°x3°x4% H HH T 60. The value of 2°x3°x4° is

A) 2 (A) 2
(B) 24 (B) 24
© 3 (C) 3
(D) 1 D) 1
Jul-2001 Series-B " (9) BT O
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61.

N
(U]

) SVaEip?

64.

Ju

Uh THMIR 2 2400 ¥ 80 aequ Brigar
_33#{3%16%@9111?3331%@
(A) T 35°
(B) % 3450
(C) % 36

'\.;“’7\
(D) % 34.80 ”’%&

. Th §H SEY &I fohat qomd =t afs
T a1’ BV H OAG 24° B2

(A) 20
(B) 10
(C) 25,

(D). 15

. fagait Ala, b) 3R B a,—b) & o= &
W I BT

(A) 4ya2 +p2
(B) 3vaZ+hb?

(D) 2va? + b2

7 W, 9 Y99 & R 4 & ded JH
3 R # I 0 60° B IR TS
g T HFATHT HI0 45° B AR H SR
EIREI IS

1-2001 Series—B

61.

62.

63.

64.

(10)

A shopkeeper buys 80 ar‘iiicles for 7 24¢
and sell them for a profit of 16%. Fing
the selling price of one article ?

(A) T 35
(B) T 34.50
(C) % 36
(D) % 34.80

How many sides does a regular Polygon
have if the measure of an exterior angle
18 24

(A) 20
(B) 10
(C) 25
(D) 15

Find the distance between the points
A(a, b) and B(- a, — b) ?

(&) 4ya% +p?
® WaZir?
(©). 5va% +b?
(D) 2VaZ +b2

From the top of a 7 m high building.
The angle of elevation of the top of the
cable tower is 60° and angle of depression
of its foot is 45°. Determine height of
the tower. ;
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68.
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G e

133,3!/143/9

F HH

254584348
/73

) \’?‘\:,{‘\ ?:,,ﬂ' -
AT Zg

dal 3

(A) 50
(B) 5000
© 500
(D) 100

J(eh T A

(A) nr’h

(B) %n r’h

(©) gn r’h

(D) 4nr’h

gfe |5 e fHE SOR & 48 52 °
fiffrg w7 %a &, at 3 Hd & 30 T
¥ qm @ & fau, fead gl &
JEvIhdl I ? \
e
(B) 24 1

R

(A) 20

(C), 12
(D) 26

65.

66.

67.

68.

(11 )

Which term of A.P.: 8, 8,13,18 ............
is 78 ?

(A) 15th
(B) 16th
(C) 17th
(D) 18th

20% of 2500 iS .....ccccosceee qg/éﬁ
(A) 50
(B) 5000
(€) 500
(D) 100
| Volume of cone is s

(A) nr?h

(B)

(C)

(D) 4nr?h

If 15 workers can build a wall in 48 hours,
how many workers will be required do

the same work in 30 hours ?
(A) 20
~(B) 24
(C) 12

(D) 26




69.

70.

7

72z

73

afR o Wit S et w ww g v | 69.
Bl AT 48 n > B, A TS SMHUR
T AW | HifST
(A) 4 IH
(B) 8 |t
(©) 12 uEts
(D) 6 =W
T U 59 % 9o §9 Hifew fogen | 70.
IS &9%d 600 92 @
(A) 20 @ﬁ.d@% .
¢B).-.30- o vales
TE)d 0. G o é%
(D) 5 9= - :
As 2x I =4~ i o] e 7L
(A) 4 ‘? . /\\yi
(B) 7 -—JC’\»\.\L-I ’\,/)\\\,"}\\\
(©) 5, S e v
@) 3 :
15 a8 «% fa & g, sHH adurw | 72
A ¥ WR A F S S w5 adae
A T B2 :
Qe o
@ 10 3 N v 9
s 219
B) 5 ad ‘73;},(\9;} h
()15 o 1 \s‘\;,
M) 30 a8 Svies
9 fau M HATHS H AEEEH TG B 3.
13 16 12 44 19 12 14 1314
(A) 13
(B) 14.
©) 12 “
(D)= 12
Jul-2001 Series—B (12)

If the volume of a right circular copq o
height 9 cm. is 48ncm?, fing the
diameter of its base ?

(A) 4 cm

(B) 8 cm

(C) 12 cm

(D) 6 cm

Find the side of a cube whose surface
area is 600 cm? ?

(A) 20 cm

(B) 30 cm

(€): 10 em

(D) 5 cm

If 2x — 1 = 14 — x, then the value of x is
(A) 4
(B)
(C) 5
(D) 3

Fifteen years from now Ravi’s age will

be four times his present age. What is
Ravi’s present age ?

(A) 10 years

(B) 5 yeavrs

(C) 15 years

(D) 30 years

Determine the Median of the following
data :

18,°16, 12, 14 19 19 14 18 14
(A) 13

(B) 14

(C) 12

(D) 19



74. Th GAEGHS B aww 240 T2 2 | 74
B faw ® o w
(A) 20 HH..
. (B) 10 9#t.
(C)- 15, . 9,
(D) 30 I
75. 10 ®H. i A ww opefit w7 e | 75.
TS Swd ? (n=3.14 wifm)
(A) 940 ¥t2 ’
(B) 942 gt 2
(C) 1042 @w2”
(D) 950 ¥w.2
\34\\7
Wv&
= uy o
Jul-2001 Series—-B ge 2N ¢13)

The area of a rhombus is 240 em? and
one of the diagonal is 16 c¢m., length of
other diagonal will be

(A) 20 cm.
(B) 10 ¢cm
(C) 15 em
(D) 30 em

The total surface area of a hemisphere
of radius 10 cm is (Use n=3.14)

(A) 940 cm?
(B) 942 ¢m?
(C) 1042 cm?
(D) 950 cm?

PO
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76. W fov wweww few fod o ferd
2

(A) <wI

(B) =]

(C) faamagR

(D) FIEN »

77.6&1@%&@#@?{@@1%?

(A) WTa

\}Baf?mwn

(C) Tl

(D) HEThAI ,
78.Wa€f¥ﬁwﬁmwﬁ‘wm
27

(A) feurem I

(B) WEEl T

(C) fFafas T

(D) Weda HE®
79. ®H H Yahers wfean fava gaharsi
- SAfafae ® 6 Tl weE S aeft
fava #1 veet ufeen faaret a7 T 22
yqqxﬁﬁfrﬁqx

(B) %t e

(c) foma <@

(D) fa@t Tt
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GENERAL KNOWLEDGE

76. Bhuri Singh Museum is located i,

which district ?
(A) Chamba
(B) Kullu
(C) Bilaspur
(D) Kangra
77. What was the Sanskrit name of Vyas
river ?
(A) Bhadravati
(B) Vipasha
(C) Irawati
(D) Mandakni
78. Baba Kanshi Ram is known by what
name ?
(A) Himalaya Ratan
- (B) Pahari Gandhi
(C) Shivalik Puttar
(D) Parvatiya Nehru
79. Which boxer has become the World's
First Female Player to Win six gold

Medals in Women’s World Boxing
Championship ?

(A) M C Marykom
(B) Katie Taylor

(C) Simran Jeet

(D) Pinki Rani

(14)



g0, STl da P ST FHET B ) 80. Where is the Worship of Jamlu Deity ?

(A) ool (A) Manikaran
(B) fHTS (B) Nirmand
(C) HATIy (©) Malana
(D) dfers3

(D) Vashisht

81. ¥ = & oER @ B THMd | 81. According to which article ‘National
5 U e’ @ s FT Emergency’ can be declared by the

ewdl €2 President of India ?
(A) sTg=8%-352 4 (A) Article—352
(B) ST{=8%-370 . (B) Article-370
(©) aﬁa%—m . | (C) Article-371
(D) g=8%-395 _ (D) >_Article—.395
82. ATM =1 ‘I{T &Y 2 82. The Complete form of ATM is
(A) Any Time Ma-rketing | (A) Any Time Marketing
(B) Any Time Money - (B) Any Time Money

(C) Any Time Machine (C) Any Time Machine

(D) Automated Teller Machine, (D) Automated Teller Machine

8. WIw e 9w’ w9 wEn s 83. When is ‘United Nations Day’ celebrated 2

(4) 24 s (A) 24 April
- (B) 24 S0 (B) 24 January

(C) 24 Septémber

(D) 24 October

(15) P.T.O.




g4. @l dem fow W A @@ 2
(A) faamr
(B) ST
(C) o=l »
(D) fewwR
85. oNfga (ASEAN) &1 T Fd 83?2
(A) 1961 ®
(B) 1965 H -

ey 1967 #

(D) 1969 ¥

86. ferren Wl s g2
(A) 1962 ®
,}B’( 1072 ¥
(C) 1974 #H
(D) 1976 ¥
87. dAaU fHE W F1 TWHM T2
(A) sforifaa
(B) strefeen
(C) =ysfieis
(D) ITSHIYE

Jul-2001 Series—B

84.

85.

86.

817.

88.

(16)

In which month Lavi fair is held ?

(A) September

(B) October

(C) November

(D) December

When was ‘ASEAN’ established ?
(A) In 1961

(B) In 1965

(C) In 1967

(D) In 1969

When was the Shimla agreement 1ik
(A) In 1962
(B) In 1972
(C) In 1974
(D) In 1976

Canberra is the Capital of which

country ?

(A) Ethiopia
(B) Australia
(C) Newzealand
(D) Indonesia

In which district ‘Sanjay Vidyut
Pariyojna’ is located

(A) Kinnaur
(B) Shimla
(C) Lahaul Spiti
(D) Chamba
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g 2018 T TS St
(A) G TR

(B) Sl CEGI

(C) I e,

(D) HITafl SRy

(A) forse
(B) ®Tehl,
(C) frm
(D) peara

(A) T
(B) ®ITe]
(C) foren

92. m?%%&mw ‘et fearett! 1 | 92.

TER THEl ST 22
(A) @R

(B) Het

4y frs,

(D) faemaqe

93. 'fug =met gty e’ %ﬂmﬁwé 93.

ffg faet # from 22
W v T

(17)

g0, fewrrer ®1 9 AT 3 firds gheyy | go,

90, ‘el T fEE ww @ gl 22 | 9.

T A’ fE N A w22 | 9L

Which women of Himachal won
Mrs. India Globe 2018 Crown ?

(A) Subhashni Chandel

(B) Dr. Vandna

(C) Aarti Katoch

(D) Minakshi Thakur

In which game ‘Duleep Trophy’ is
related ?

(A) Cricket

(B) Hockey

(C) Tenis

(D) Football

‘SUHI FAIR’ is celebrated to which

district ?

(A) Una
(B) Kangra
(C) Shimla

(D) Chamba

At which place of the State the festival
of ‘BUDHI DIWALY is celebrated ?

(A) Rewalsar
(B) Mandi

(C) Nirmand
(D) Bilaspur

“Pin Valley of National Park’ is located

in which district of Himachal Pradesh ?
(A) Lahaul Spiti

(B) Chamba

(C) Mandi

(D) Kangra

P T 0.



04. ‘weT we' frg fie W frerm @7
(A) ST
i
(C) wuet

(D) I

95. feurae Ww & Wy W wH B2

(A) f@=s FR

By Tafr

©) W= fi=
(D) foea =

06 T TN H o oA =y fRg T | o6,

R wfid T man e
(A) FreH
(B) faamayqe

(C) ¥T
(D) fermem

97. ‘agie ' few foodt o fem 22
(A) =
(B) ST
() =R
(D) eErA-Tifa
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94.

95.

9.

In which district ‘BARA BHANGAL is

located ?
(A) Una
(B) Kangra
(C) Mandi

(D) Chamba

Who is the Health Minister of Himachal
Pradesh ?

(A) Virender Kanwar

(B) Vipin Parmar

(C) Mahender Singh

(D) Kishan Kapoor

At which place was the First Radio Station
established in Himachal Pradesh ?

(A) Solan

(B) Bilaspur

(C) Una

(D) Shimla

‘BASODAN PASS’ is located in which
district ?

(A) Chamba
(B) Kangra
(C) Kinnaur
(D) Lahaul Spiti

Which is the Largest Artificial Lake in
Himachal Pradesh ?

(A) Govind Sagar Lake

' (B) Pong Lake

(C) Manimahesh Lake
(D) Rewalsar Lake
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. fodt ™ % T .
. T % fou =99 | 99. What is the Minimum Age to become a

SHRE =X 22 Governor of any State ? °
(A) 30 ud (A) 30 year
Més i , (B) 35 year
(@) 25 ant : (C) 25 year
(D) ‘18 =9 | , (D) Loiyear

100. feH=T Y291 | GeqRIsy T %El 2?2 100. Where is the Mountaineering Institute
in Himachal Pradesh ?

(A) WAl (Hed)
(B) HHmET (FTTET) (A) Manali (Kullu)
: . : (B) Dharamshala (Kangra)
. (W) (C) Panjpula (Chamba)
(D) FRETR (HUel) (D) Sunder Nagar (Mandi)
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